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(i) @Yt 397 I E |
(i) YT d, &, 7 3K T & J99] 7 SaRke 597 3F1 T 8 |
Gv) YT 37 & Y97 G&I1 1 3K 2 Uh-Uh 3% & Y97 & | 9% FH U o7 JYaT
T JFTH 378
() YT T & J9T &I 3 & 5 71-31 37h] & J97 & | 59 IR AT 30 Yee] I4%
73781
(i) YT G & 97 G&IT 6 & 15 -7 37%] & J97 § | 599 I ATYT 50 Jegl
JgH 478 /
(vii) YT @ & Y97 &7 16 G 21 Gia-9i9 37h] & Y97 & | 599 FK FTHT 70 Fscl
J9b 5 57 8 /
(viii) YT T & J97 G&IT 22 G 27 JINTIHF HI9T T SR G1-31 371 & J97 & |
5% GRT I T 8/

General Instructions :

(1) The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

(it)  All questions are compulsory.
(iit)  Internal choice is given in Sections B, C, D and E.

(iv)  Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

(viit) Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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SECTION A

1. 1 ferettare =ver <A1 aftam fafew | 1
Define 1 kilowatt hour.

2. WG B U Al IR Siel Hl HWE A8l Hd Uq (Rl
Srerstigee i i 9w i sTavashdr gt 7 | F/ T 2 1

Generally, we do not clean natural ponds or lakes but an aquarium needs
periodic cleaning. Why ?

o
SECTION B

3.  SU-GERIAT % & RO gRiEg T | 39 g QY % Fied o fag 3w
B I A R IMIfRd 3@ Wifer | 2

List two causes of presbyopia. Draw labelled diagram of a lens used for
the correction of this defect of vision.

4.  TARMAI % TR R NagO ST gIIsT | 2
Show the formation of NagO by the transfer of electrons.

5. e fshaT 3R e < &= a 3T=al <hl QTfcTeh] o €9 H FT ST | 2
arera

ufe ot fefem & i g1 ofwadi ! aTfcTeht & &9 § T a9ET | 2

List in tabular form two differences between reflex action and walking.
OR
List in tabular form two differences between pepsin and trypsin.

"
SECTION C

6. IR oAt & foTw STTorehet IURNT B arett fsha 1 9 fafge | sweht dam
H e HIfT | Saredt Sadi o TAM W AR HeA1 T STANT i b
AT T FT ST | 3
Name the process used to harness nuclear energy these days. Explain it
briefly. List two advantages of using nuclear energy in place of fossil
fuels.
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7. 41 B “Sa fafauar 1 fafsse soa” =t 9 1 I 8§ 2 99 % e % fag
IR YT GATST | 3

Why are forests considered “biodiversity hot spots” ? Suggest four
approaches towards the conservation of forests.

8.  UIOU{Y 3Yad fhd ThEd & ? TMIfehd ARG <hl! HEEAT ¥ =T hifay fh
TR | fe@ts & are foreht ar R feufa seehl areataes fedfa €l it 2 | 3
St
HelT H oS Tohel BT Sl I §H s had @ 1 I8 Hhe-gse a | difsd & 239
TN % G BRI hl FAT ST | fohTUT 3TR@ T ITAN Hieh =7 & 39 Q¥ 6

MY o IUM <hl AT hIfoTT | 3

What is atmospheric refraction ? Explain with the help of a labelled

diagram that the position of a star as seen by us is not its true position.
OR

When do we consider a student sitting in the class to be myopic ? List two

causes of this defect. Explain using a ray diagram how this defect of eye

can be corrected.

9.  o1ad W (I 1 FIST) S TS g3 fIan | 389 < |t 9 fohd Thr
TTed RIS Tehal B 2 USG9 o IdiTh 37 39T o T o914 & HIg
I A Tl & I hl G SIS | 3
Write the chemical formula of washing soda. How can it be obtained from

baking soda ? List two industries in which washing soda is used for other
purposes than washing clothes.

10. <9 argsti P, Q 3T RH, P &l Afshaar Q & &9 g d1 R ! Afshaar P 3R Q
gHl | 3 3 | hig WET fRaTehey gemst g g P, Q 3R R 1 S

Tl B3 WishAT o HH H sHafeyd fopam ST Hehall @ | 3
arera

Hehll o 3TITH I AW [IRIT | Ffcld TET-e THIHUN hl FERAT & il

%I IGeh ITIEH ¥ TRt S <l Ufshan i =& i | 3

Out of three metals P, Q and R, P is less reactive than Q and R is more
reactive than P and Q both. Suggest an activity to arrange P, Q and R in
order of their decreasing reactivity.

OR
Name the ore of mercury. With the help of balanced chemical equations,
explain the process of extraction of mercury from its ore.
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11. (a) el TXETY] o SoraReieh TowaITE GRI 38 dwdl shl WYTad HASTehal fohd
TehR g <l STt § 2
(b) et axa X, Forereht wRuTo] shuTeh 15 8, 1 GISeRan fuffa Shifse | 3

(a) How is possible valency of an element determined from the

electronic configuration of its atom ?
(b)  Determine the valency of an element X whose atomic number is 15.

12.  EHncifer @1 g ? gaR S § dveltss 1 =Ear (Ear) % aRori # sga
HIT | 3

What is haemoglobin ? State the consequences of deficiency of
haemoglobin in our bodies.

13. Ti=fafgd i samen Fifvu . 3

(a)  STd-3gued
(b)  STeRideh ==

AT

Hed 4 WX o Wi o A1 R T T A ¥ UH YA H WA S el 3R
FiieR I Tt 7 & Wyt i fIfve foredi 61 TRt HUR | 39 TR g F,
3R F, dIEt T 99 Weli o BUSe o YU 1 SRV Tlgd Ig@ I | M ot
& Afdi<s Avsd g 399 YA § 39w fohu i fohegl @ fauatet (foeped)
AU Il HX o qedt H g off SIS | 3
Explain the following :
(a)  Speciation
(b)  Natural Selection

OR

Mendel, in one of his experiments with pea plants, crossed a variety of
pea plant having round seeds with one having wrinkled seeds. State
Mendel’s observations giving reasons of F{ and Fy progeny of this cross.
Also, list any two contrasting characters, other than round seeds of pea
plants that Mendel used in his experiments.

14,  SffoeioH 61 Sl Teran it § eI o foraved & ueli &1 =ame Hife | 3

Explain the ways in which glucose is broken down in absence or shortage
of oxygen.
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15. il o &9 § SHIEASH 3T AqATETsh o ste oiF fadeTrl @& i g=ht
91T | 3
List in tabular form three distinguishing features between cerebrum and
cerebellum.

"I 3
SECTION D

16. (a) TISEIhIeA fohH HEd & ? TR Th Q& T |
(b) TS % Gl IGTEU <d §U HJH TIEGIhEH IR STHIH BEGIHE o o
AT 3= iU |
(¢) T=feiRaa =ifient & am fafau
() CH,-OH

H
.. 7
(i) CHg- C%O
(iii) CHg- ﬁ — CHj,
0]
O

Il
(v) CHy-C-OH

(a)  What is a hydrocarbon ? Give its one example.

(b) Give the structural difference between saturated and unsaturated
hydrocarbons with two examples each.

(c) Name the following compounds :
(1) CH; - OH

H
.. 7
(i) CHg- C%O
(i) CH;- ﬁ — CHj,
0]
O

Il
(v) CHy-C-OH
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17. (a) Tefoemua arfiyfsran ford sad 8 2 fordt IeTator wfed saman hIfST |
(b)  Toret sfieRt o o STt iRt SEH fort 931 =3 <t P AT s T R
(i) B ATt srufsra o 9w 3R SEeh R fafeay |
(i) 3T AfufR 1 Fgfora TEET iR R §94 9Tel 341G
T TEEHS 9m fafeay |
(i) 39 AT & &1 yg@ Jeon i T SR | 5
Jrqa

(a) <8 rgee it qumeq (faaem) erfufshan =+t Fglia o & fou fereft
foramerety st AftreRewT Hifsr |

(b) TR SHEEYT T AHIhd ARG Gi=eht & TH@ J&T hl I 15T |

(c) AfiepHe 3R Icqtal hl Wifder 3fe®l 1 3@ Hd gL B dral
arffsran w1 Tgfera Tamfie T fafEe | 5

(a)  What is a double displacement reaction ? Explain with an example.

(b) A small amount of quick lime is added to water in a beaker.
1) Name and define the type of reaction that has taken place.

(i1)  Write balanced chemical equation for the above reaction and
the chemical name of the product formed.

(iii) List two main observations of this reaction.
OR

(a) Design an activity to demonstrate the decomposition reaction of
lead nitrate.

(b)  Draw labelled diagram of the experimental set-up. List two main
observations.

(¢)  Write balanced chemical equation for the reaction stating the
physical state of the reactant and the products.

18. (a) I3 foF 20 cm BIH gl & TohHl 3fardel oi® o ThIRT w3 § 40 cm
T w feord 2 | s At wiikferrs o SR stfirerern 6l e S9sg |

(b) 20 cm HIHE g % TRHT ITA o8 G 3Gk AT 6T feopelt forem o
Wﬁ%waﬁauﬁﬁmwﬁ@é%% | F % JeRIfh g |
fezsr sht gt 3ma <hIfT | 5

(a)  List four characteristics of the image formed by a concave lens of
focal length 20 cm when the object is placed at a distance of 40 cm
from its optical centre.

(b)  The size of image of an object by a convex lens of focal length 20 cm

is observed to be reduced to %rd of its size. Find the distance of the

object from the optical centre of the lens.
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19. (a) Ry, Ry 3 Ry ufcie & o ufcaligss (i) Sofishy ®, dem (ii) wredshy §
A 2 | Tcieh TR0 § TIIeH & dod iy o e = forfau |
(b) 12 Q % T Fagw Yfigsh 3V HI fopell ot @ waifsa 8 | Feaw
gfeig iR fehan wiatig < IROmd GISHl gRI SUYTE WRRAT oh1
AT qiehictd hiforT | 5
3T
(a) TFETg P IR STIIEABIC &FTheT ‘A’ o FTHIhR AThId < fohet ATeTeh
& faty 3R 3mek ggred f Iga Sfivshar & = dey fafew | 5@
TehT JEd fciegehdl @1 S.I. A SIcad i |
(b) 5m o TREl gig % AR w1 TU" 100Q 7 | AR W AR H
STTIEY-HIE T &% 3 x 107 m? g, 1 o1q ! Afcigehar giehford

HIVT | 5

(a)  Three resistors of resistances Ry, Ryo and Rg are connected (i) in
series, and (ii) in parallel. Write expressions for the equivalent
resistance of the combination in each case.

(b)  Two identical resistors of 12 Q each are connected to a battery of
3 V. Calculate the ratio of the power consumed by the resulting
combinations with minimum resistance and maximum resistance.

OR

(a)  Write the relation between resistance and electrical resistivity of
the material of a conductor in the shape of a cylinder of length /’
and area of cross-section ‘A’. Hence derive the S.I. unit of electrical
resistivity.

(b)  Resistance of a metal wire of length 5 m is 100 Q. If the area of
cross-section of the wire is 3 x 10”7 m?, calculate the resistivity of
the metal.

20. (a) Tl hoUH A &9 O @F & oraad o arETd Y s gr
3ua fohu S et st 1 e feifa @ arer fem w5 am ot e
feflaw |

(b)  Taga wiet 1 amifera 3@ S | 5

(a) Name and state the rule to determine the direction of force
experienced by a current carrying straight conductor placed in a
uniform magnetic field which is perpendicular to it.

(b) Draw a labelled diagram of an electric motor.

31/3i3 st e
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21. (a) S Th8 &Ed & ? 8% gl TN i T TAET |
(b)  THHIREHE SAi R TgehlRIeh Sial § S ol faumd fohe Jepr fim

Bl & ? 5
e
(a)  ifireh =i T (STD) AT &ld & ? &1 Y] S 37 g1 SR Eshiid
iR F=ia Wt <Rl T TA1ET |
(b) ™ iy fora wed 8 2 FRus surt @ oA & fia SR f =
TS | 5

(a)  What is reproduction ? List its two types.

(b) How are the modes of reproduction different in unicellular and
multicellular organisms ?

OR

(a) What are Sexually Transmitted Diseases (STD) ? List two viral
and two bacterial STDs.

(b)  What is contraception ? List three reasons for adopting
contraceptive methods.

T T

SECTION E
22. T T YU K1 o W Uil o focdeh o1 STEURN STU90 9”& o G0 |
T A & (AR & 3T gal 1 39N i & | 31 2di & 4 fafEe ik

3@ il T I ga e 3R FT YA fohU 914 B | 2
AUAT

3 TR e 61 3fd wH H g S5 ST uTeE 89 Uit o ek

STEITAT ST ¥R hid 9T hid & | 2

In the experiment of preparing a temporary mount of a leaf peel to
observe stomata, we use two liquids other than water. Name these two
liquids and state when and why these liquids are used.

OR
List four precautions in proper sequence which we observe while
preparing a temporary mount of a leaf peel.

23. foet @ 3 “vaga A @y # CO, Fwadt 37 H T & fAw g
rafeyd s foran 8 | T 1 9ue % v 98 e et O Sfel &% adt °H I3
=L TET ATl | TANT hY TEHeAd! o g FHIId HRoT fafan | 2
A student has set up an apparatus to show that “COq is released during

respiration”. After about 1 hour he observes no change in the water level
in the delivery tube. Write two possible reasons for the failure of the
experiment.

31313 T P.T.O.
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24.

25.

SANE@ T T T FieeHe & a1 fomm Shifve ot fe=fofaa gt & s
T

15
0 3.0
v
(a)  dlceHIEX T 3TcUdHTeh o1 g ?

(b)  dlccHIEX &l IS &1 & ?

(c) dfe I8 dicediet foret 20 Q & yfelius & & & gaifod 8, @ gfatiass
T fopat & venfed & Wi g 2 2

Consider the scale of a voltmeter shown in the diagram and answer the

following questions :
1-5

\%

(a) What is the least count of the voltmeter ?
(b)  What is the reading shown by the voltmeter ?

(c) If this voltmeter is connected across a resistor of 20 Q, how much
current is flowing through the resistor ?

forell gree fore o1 WffeRa TR shteh QU T 31aqa qUUT <l ditehe HIhd Gl

freif@ st & J= @ S i fafer 6 = A AR g AR | 2
AT

forel B 1 TUad w1 % IR fafie 9 & fu i % TR @Y 3@

TSR aTet JehTeT foRtor <61 Ul STRREd T 2 |

(a) 39 YA T q1 Hgwwqul AraEr= i gl sy |

(b) 38 SN W TYTNG B GRT THehlel T ¢ TSk <hl FAT ST | 2

31/3i3 st R o



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

(© RAELE

List in proper sequence the steps of the experiment for determining the
approximate focal length of a given concave mirror by obtaining the
image of a distant object.

OR

A student has to trace the path of a ray of light passing through a
rectangular glass slab for four different values of angle of incidence.

(a)  Write two important precautions for this experiment.

(b) List two conclusions the student will draw based on his
experiment.

26. UIATEH A & I feu MU quremt 1 TeEA wd gu A9 S frsed fepren
3R] gl ST 2
(a) 7™
(b) = ¥ foerar
(c) Toferd v W y9E
(@) Eifsam gEgieN FEHe & a1 AT
List the conclusions you will draw while studying the following properties
of ethanoic acid :

(a)  Odour

(b)  Solubility in water

(c) Effect on litmus paper

(d)  Reaction with sodium hydrogen carbonate

27. @ il § @ Fohe b oo W 2 S T T § H e i g
TgfufEm it Tt sTen % o 199 % gzEr o 0 g 2 At 1§ S
giads 9T S 8, o g el afufsen w1 am qen rfufsen w1 qEmfies
grfteRtor ot fafEu | 2

YT
FIE B B Towhe fohedd oo forguea (fermem) erfufsean &1 srerm e

e & | 39 YA 1 Hd GHI 3T g STl oI it @ gt fafge | 2

What is observed after about 1 hour of adding the strips of copper and
aluminium separately to ferrous sulphate solution filled in two beakers ?
Name the reaction if any change in colour is noticed. Also, write chemical
equation for the reaction.

OR
A student wants to study a decomposition reaction by taking ferrous
sulphate crystals. Write two precautions he must observe while
performing the experiment.
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